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Paper / Subject Code: 81410 / Business Economics-1.

N.B :

(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat (lsagram whercvcr necessary.

Fypms

(2 2 Hours)

"Refers to change in onc variable due
to change in other variable

OPEC

. 'Monopoly

Cost incurred in producing an
additional units of output

long-run production

show the pictoral presentation and the
relationship between two variables

2 (A)Expiam the

(B) Dtscuss th;, ypes o

OR
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Paper / Subject Code: 81410 / Business Economics-I.

(C) The demand schedule for an industry in a purely com petttwe market is gwﬁn as

follows —
Q =500 -3P

The short-run supply schedule of the industry is as -feilbéx‘sgs;’

Q=-3+8P

Questions- A N ;
1. What is the equilibrium price and quantzty in the market

2. What is the total expenditure incurred by the consumers,

3. Calculate the total revenue of the ﬁrms S

(D) Discuss the survey method ofﬁe;ﬁnandi’forec‘ast\in g

3. (A) Explain the law of dzmmzshmﬂ meu gina} xemms thh the he%p of an’

illustration and suitable dragram , 7
(B) Discuss the types of i i ‘ernal economms of scale

its-and demex its of full cost pricing.
B) Exp in th concept of transfer pricing without external market.

se-of analyms in decision making.
“(b} Types of price efastlczty of demand.

K As of przce dxscmmmatwn
Y o o sl e ook sfe sl ol ok ook sk o o o ek o
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Paper / Subject Code: 81909 / Foundation of Human Skills

Q.3
A) What do you mean by Work Groups? Explain various factors aff
B) Write a note on Work Teams.

OR

C) “Though political behavior is inevitable in the organzzal‘zonx
excessive damarzge to orgamzatzonal perfarmcmce ing

Q.4

A) Write a detailed note on MC Gregor’s theory X & theory Y.
- OR
B) What do you mean by orgamzanon cuiture? Explam var;ous chal actemstxcs of‘ an
organization culture, - : « TR

C) Write a note on motivation.

Q.5
A) What do youmeani} cha ge? Exf

$ sources of‘ reswtancf: to change.
De ‘lapm ent (OD)" hxplam various OD

Sdeodedor gk gk ok
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N.B.:
1) All

2) Draw diagrams wherever necessary.

QI. A) State whether the following statements are true or m]se (Any clghf}

i

Paper / Subject Code: 81909 / Foundation of Human Skills. ¢

TIME: 2:30 HOURS TOTAL MARKS: 7

questions are compulsory.

Heredity factors are major determinants of pcrmnahty 2
An extraversion trait includes attributes such as trust & cooperatmrx mwaf ds oihcxs

ii.

iii. Vicarious learning is also known as Direct Expenence in foxmmg the attxmde '
iv. Judicial Function of thinking style likes to 3udge and evaluate gthm' pe@ple m}d thmgq,.f’ e
v. Social learning theory emphasizes on Ieaz‘nmﬂ by observing othezs D&

Vi.

One of the indicators of high Spmtual Qucﬂent is havmg Vision,

vii. Task groups are permanent in nature, ‘
viii. Reward power is same as coercwe pcwer ¥

Most big organizations have a dﬁmmam cultm e and numerous sets of subcuiturcs

ix.
X. Group cohesiveness ieads tQ sncxa Ioaf ng
B) Match the following (Any Seven) FOA f T 07
A G Bo®
1. Cognitive Dissonance ~-a. - Poor prenatal nourishment.
2. Cause of still bcsm ba b. Physiological stress-
3. feedback c.- Positive stress
4. fens d.Having two contradictory ideas.
attitude' : :

5. Coﬁoptng P& e. ‘Divergent thinking
6. High blond pressure' VS . . Force leading to organization change
7. :'-Eustress g “People dislike work
8. ; ~h. Involving group of dissatisfied people in

¢ LOEEK - decision making.

9. Technology = - ‘i Protects the self-image from the threat

10 Theory X . j. Johari Window

08
07

08
07
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NB:

1. (A) Choose the correct alternative {(any eight)

(i)

(ii)

(iii)

(iv)

(1)
()

o8 “,2/ 258
Paper / Subject Code: 81305 / Foundation Course-I

hmx - 4/Q'r\f\ﬁl

Time: 2 % hours

All questions are compulsory
Figures to the right indicate full marks

In India the state of has thg.;fé'g}éést:g‘e_ir';déf
(Punjab, Haryana, Bihar) S :

Shwetambar and Digambar are the two. majar seats 0
(Sikhism, Jainism, Buddhism)

Marathi belongs to guags fgﬁmy‘ P

(Dravidian, Indo-Aryan, Austnc) FFHE TS0 e

Deficiency of Vitamin ___.._ _ may cause blindness. - <
(A, B, C) 3 ~ SLEL

The practice of untcuchabl ity is prchtbuted int nci!a by Aftsdé o ofthe
Constitution. ' ;

(15,16,17)

Demand for ‘sonof Ii_}xé soil’ is-

erpret the Constitution.

types of emergency.

gf:ﬁ}'uai treatment to all religions.

Amendment Act.

(07)
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Paper / Subject Code: 81305 / Foundation Course-I

(vi)  Down’s syndrome is a defect due to extra chromosome.

(vii)  Indian Constitution does not confer double c;t:zenshrp

(viii)  Fundamental rights are justiciable in nature. S
(ix) Indian Constitution has adopted Parliamentary demoaracy
(x) Trinamool congress is a national party.

2. Explain the causes and consequences of declining gender ratio in {ndiaif
OR R RESEASERR e
Examine the various problems faced by the peop‘lgfwnh disabilities in India,

3. Discuss the reasons for communal violence in‘mod ern !nd;ai Suggest meas

overcome the problems of communalism
Gﬂ

level’ - DISEUSS

{ 15)

K%k ok e o o
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Paper / Subject Code: 81204 / Business Communication-I.

RS Sem T arc

Total Marks: 75 marks
N.B. All questions are compulsory
[ (A) Match the Columns: (Any Eight)

(1) Encoding (a) Mass Co:_n_t‘ﬁuniéafjipﬁ, SEON)
(2) Blogs with Photos fental Discipli
(3) Kinesics

(4) Hierarchy

(5) Semantic Barriers (e} medmv Ltp Seww
(6) Fake Listening T
(7) Good Listening

(8) Letterhead

(9) Post Scrip}t

(10) Address to a Large Group

K Inval‘ves the use of csm 1} sym;ba‘::«i.s»'
(2) Photes Blo

'Body Language

«(ﬁRe ated o Lanvuage %, g
: \‘5((}) Extension of the: Bady m“ the: Le‘aaz 3

(B) State whether the following are.’f’ufé or'F alse: (Any Seven) SRIA S (07 marks)

a) Jobs may be advemsed threagh websxtes but apphcanons should ne\z b f thrtmgh e-mail.
b) Use of Jargon shows command over ¥anguage S 3
c) Llstemng enables understarxdmg of a n)essage
d)
e)
f)
g)

wrrier to communication.

(07 marks)

{08 marks)

{07 marks)

{08 marks)
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Total Marks: 75 marks
N.B. All questions are compulsory

[(A) Match the Columns: (Any Eight)

M
@
©)
“)
()
(6)
N
®)
&)

(10) Address to a Large Group

o l-|z=)o lp

Paper / Sixb;ect Code: 81204 / Busmegs Lﬂmmummmon-l

@Y\/b W—-T

Encoding (a) Mass Comt‘nvtmiéaﬁ:d‘é
Blogs with Photos fental Discipl
Kinesics
Hierarchy
Semantic Barriers
Fake Listening : ]
- ‘»(g)‘?hm Blog

( )‘Bocjy Langnage
(i Relatﬁd to L'mguage

Good Listening
Letterhead

Post Scri;ﬁ

AR @ (;) Extensxon of the Body of the Leﬁer

(B) State whether the following are True or False: (Any Seven) ST D (07 marks)

a)
b)
c)
d)
e)
f)
g)

Jobs may be advertised threugh websxtes but applxcations sheuld ne‘verﬁ ent ﬁiréﬁgh e-mail.
Use of Jargon shows command over ]angnage > %

L;stenmg enabies understandmg of a messa e

A virus protectl :
The Inside ddre

(07 marks)

(08 marks)

| Communication. (07 marks)

! vantages of Oral Communication. {08 marks)

Page 1 0f2
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Paper / Subject Code: 81204 / Business Communication-1.

4. (A)

with Curriculum Vitae to P.O. Box No 12
Complete Block layout.

(B)

(C) Draft a Letter of App}iéé i (10 marks)

ock layout.

P@ \_o aI Sﬂcretary for the past IG' years you (05 marks)

(15 marks)

R —.

Page 2 of 2
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Paper / Subject Code: 81903 / Business Statistics.

NS Sem— 1

Time: 2:30 hours
Note: 1) All Questions carry equal marks of 15 each.
2) Graph papers will be provided on request,
3) Use of Non-Programmable Calculators is allowed.
4) Figures to the right indicate full marks.
5) In Q no. 1 attempt both the sub parts A and B.

Q1a) Fill in the blanks (any 8 out of 10) ST R qu im=gm
i The data collected for the first time is known as SOESG & {Sécénﬂafy data,anaWDa‘ta a
data) e S S R e oy

fi.  The middlemost observation, dividing the entire distribution into two equal parts is known as
- (Mean, Median, Mode) Eaogls KOV R A LU oK
fii.  If the values of Arithmetic Mean and Median are 34.5 and 34.1 respectively, then the value of mode
can be . (33.3,40.2, 35) SR IS ISR gV
. The diagram used to get rough idea abogtfefé?tiénshvip_ I:}‘étWeEh‘_i)a_riahfes“xat}dy is-known as .
. (Scatter Diagram, Pie Diagram, Bar diagram) NN N

> v.  The Co-efficient of Correlation always lies between.. = o 0 S (O -1&1,-180)
r * < (Increasing, decreasing) : NSRS
vi.  The Correlation Co-efficient is of Regression Co-efficients.
. (Arithmetic Mean, Geometric Mean, Weighted mean)

v7il.  The method used to derive regression constants of a regression equation is known as
(Product moment, Least Squares, Moving average) N it A O

viil.  There are components of a time series. (3, 4, g}
X Least Square Method is used to compute ___ :
(Non Linear Trend, Linear Trend, Seasonal trend)

x.  The variation occur due to seasonal changes iri\a'time\ée»rles,

(Seasonal, Cyclic, ’irreg,qﬁar) TS s

1b) State True or Fa{séiférﬁ\éﬁsjﬁe? | au ofTen : s A N 7gx1im=7m

i) The Histogram'can be used to locate graphically the valtie of Median.

i) The suitable measure of dispersion to indicate extréme variations in the data is Range.
iii) If the va}ﬁg;af:c‘o.—‘effiéie‘r};t}f,&:a;ffaiiph"is more, the consistency of the data is more.

iv) An occurrence of an ;Ogué;metp'arjy,Stvatis:t‘icafi"e”xpeﬁment is called Sample Space.

v) The family Budget Method s used to calculate the Chain Base Index Numbers.

vi) Future;t'rén-dvaiﬂgé can be e;sti:méted with the help of Straight Line Trend.

vii). If the two regression coefficients are negative, then the value of the correlation co-efficient will be
viii) While calculating rank

; yrrelatior V:t»g:‘ééfﬁciéht, if the values of variable x are ranked in increasing order,
then the values of variable’y must be ranked in increasing order.
ix) If two variables x and y-are highly correlated then Y can be estimated for a given value of X using

Regression Equation Qf’\‘nn X
X) Mean Deviation is a Relative Measure of Dispersion.

2a) Repré'sé\t}lj:fchéz_fﬁﬂoWiﬁg datab a ub&i’vided Bar Diagram (7m)

Year
Exports 1995 | 2000 | 2005
Food & Drinks 25 32 35
Raw Materials 18 20 30
Miscellaneous 12 15 18
Total 55 67 83

BOBLY x5 S Page 1 of 3
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Paper / Subject Code: 81903 / Business Statistics.

2b) Calculate Median for the following data and locate it graphically

Marks 0-10 [10-20[20-30]30-40 ] 46=850°] = = -~
No of Students 18 22 30 28 | ARSI S S T

(OR)

2p) The Regional percentage of viewers for a popular TV Serial on DD Metro Channe far 3 months are as ‘
follows. Represent the following data by Multiple Bar Dtagram ; ,

Month North So_uth West
April, 2012 | 40 | <450 4 32|
May, 2012 | 50 | 55 ] 40 |
June, 2012 | 45.7{-°49 ° '1‘3'8

2q) Calculate Arithmetic Mean and Mode from the. foIlowmg data 7 g :1 },  : ol 72‘\{8m}

Height 120-125 | 125-130 | 130 135 135 140 140.-7145' 1145150

No of Children 7 20 1K 1}8‘ D 25 ~13 SEY J
3a) Calculate Mean Deviation from M‘eahfaﬁdﬂiﬁts Cé-/efﬁ/ﬁéh\"c forthe following data, 4 {(8m)
Age 20522 [ 22-24 [ 24-26 | 26-28 | 28-30 [ 30-33 | 3334

No of Employees

3907 2 1110 140} 130 - |80 80

3b) Calculate Correlation Co of hefcflowmg data. Ve {7m)

T2
1041148 |9
SR O v (OR)
3p) Find Standard Dev:atlon and Co efﬁaent of Variation for the following data. (8m)
o Marks - 0- 20 1:20-25 | 25-30-] 30-35 35-40 | 40-50
Nq,ofStudents 16 L 128 42 30 18 14

{(7m)

(8m)

Base Year Current Year
Price | Quantity | Price | Quantity

4 15 5 | 20
8 20 12 30
6 25 8 20
6 3 8 4

14 2 20 3

Page 2 of3 '
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Paper / Subject Code: 81903 / Business Statistics.

4b) Calculate Five Yearly Moving Averages and represent it graphically.

Year | 2000 | 2001 | 2002 | 2003 [ 2004 | 2005 | 2006 | 2007 | 2008 | 2009 | 2010 ] -
Exports | 51 | 53 | S0 | 57 [ 60 | 55 | 59 | 62 [ 68 | 70 | 72

(OR)

4p) Calculate Chain Base Index Numbers for the following data;g o

Year [2000 [ 2001 | 2002 | 2003 | 2004 ] =
Prices| 15 | 18 |25 (82 .4 ¢

4g) Fit a Straight Line Trend for the following Time Series and represent it grap m:a A e '(ﬁzm)
Year [ 2010 [ 2011 [ 2012 | 2013 [ 2014 2015,ﬁ2316 0]
i Imports | 87 | 90 'f921 987,105 -} 93,qfleG v Ii3 ke
3] For the following probability drstnbuticm, obtaln 1) ‘X ‘>_‘2) ii) P{X $1F m} (X 2. sr 3)
iv) E(X) v)V(X) e ey ey (7m)
@] 1 2 3
0.2 103 0 15 0 05
55) For the following Payoff tab!e fmd the optlmai demsmn usmg Laplace Crrtenv n and Minimax
Regret Criterion G PN ' {8m)
% 2 Course af - States Df Natur&
"VA‘!;‘tlp.n e A 52; 837
AT S 200~ 150 190
205 1 3504200 <00}
T _j‘f/x-*so:f, 160|400 |
5p) Write short netes on any 1 (3¢ x 5m = 15m)
i Components of Deécision Makmg

L. Sources of collectio
i State the Addxtwe Law
events are- MutuatlyE clusive.

. Components of Time Serie
~ D:stmgmsh between., Ctua n:at

&ﬁ&antitative Data; Class Limits & Class Boundaries

ok ok ok R ok ok Kk ok ok k ok ko

32837 > Page 3 of 3
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Paper / Subject Code: 81902 / Business Law.

Duration: 2 * gours

Instructions: 1. Figures to right indicates the marks ‘tssxgned T
2. All Questions are compulsory. Only mternal optmns are gz__,

Q1. A. Fill in the blanks (Any 8)
1. A person making proposal is called
2. Age limit for making contract is
3. MOAhas____ clauses. :
4. In Hire Purchase the payment is made in AR
5. In a private company maximum numbcr of person zs
6. A third party to the contract i isd "2 = Jtoa. contract thu , cann t'sue

7. Thereare __ kinds of resolutmns zhat may be passed by a company
8. For trees protection under plant var:etxes is granted for e years s
9. Patent is granted for ___ years. RET
10. Negotiable Instrumen‘{ must be Ry

B. State whether True or False (Any 7)

1. Caveat Emptor means buyer beware,
+ Repudiation of a contract: means to. cén fthe CDI‘Itl&Gt
Goods bought on trxai bas; S are enstdered o be sa

o7

BN

(08)
b Deﬁne C(mSId on W%jzat are the essantxal rules for consxderation? ()

a..' Bri&ﬂy-kexplaiﬁ th i’ia,li‘é&éonditions and implied warranties in a Contract of Sale.
7 o S LD X e (08)
'b. ‘Who is an unpaid seller? What are his rights against the buyer? 07)

STBL & Page 102
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Paper / Subject Code: 81902 / Business Law. " —

Q3. Answer the following:
a. Distinguish between Cheque and Bill of Exchange. -
b. State the different modes of discharge by xmpcs&bdrty ;
OR

y exceptions to

©8)
()

(08)
o7

(1s)

fﬁé}gétiabie Instrument

ko ko ol s ook o

Page 2 of 2
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QP.Code:00122

[Time: 21 Hours]

Please check whether you have got the rlght questian paper
N.B: 1. All Questions are compulsory carrying 15 marks each & 1
2. Working notes should form part of your wh&rever apphcabie

Select the correct alternative and rewrite sentence. (ANY 8}

is an explanation of the entry at the end of the entry.
a) Posting b) Journal Entry ) Narratxan d) Ledger_. &

Drawing a/cisa Alc. G NS
2) Personal b) Real c):‘PﬁVate j d) Nominal.

A bank Reconciliation statemeht &s prepared to: reconcxle the dsfference in.

a2} Only cash book ) cash book & pass bnok ; - d) Nezther of the three
Accountlng v :andards deafs wrth accountmg; for revenue racngmtmn
a) AS 9 b) AS 10 . ) AS6 d) AS g A

Revenue expenditu‘re};i & expendtture

)Nan regumng " d) Wasteful

ethod; depre L . wrttten dc:wn value. h i
b)Y m ' Rgduzing Balante  d) Fixed installment

Temporary dlfferencem rial ba

intransterred't account.
)Suspense b) Pmﬂt& Lnss A/c *¢) Compensating d) Commission
Trial baiance xsa g ‘- : :
ajA statement, ! b} A Subsxdlary boak : ¢) An Account d} A reconciliation
Gross profﬂ: is transferred to @he ~‘ \/ Alc.
-2) Trading A/c e c) Final A/c d) None of the abiove.
IFRS
aj4

18F802BF4CB7FB2A6268C20CF50C54E8 ‘



B)

Q.2) A)

a2

g 2917
,[lan 1 Openmg cash balance Rs 3 SOO

Paper / Subject Code: 81901 / Introducaton to Financial Accmmt?é;

Q.P. Code :00122

Match the following (ANY 7) : AT e
1) Machinery A/c a. Insurance contract -
2) Journal b. Depreciation Accountmg
3) IFRS 4 i ¢. Debit note no - R T 2
4) Purchase Return book d. A book of daily Rem‘r\ds
5) AS-6 -e. Capital expenditure. -
6) Repairs to plant | f, Real afe " 5 S
7) Depreciation ks Recardmgsametransactmntwottmes I
8) Error of duplication ~ | h. Revenue expendrture S8 I AT Y AR A L]
‘ D ,gf‘- 1 Fxxed assets NN R

Journalise the following transactmns in‘the books of SURYA forJAN 201? PSSP
Jan. 1 Started business with cagh’ Rs 60, 000; EOCgl e
Jan. 9 Paid Rent by cheque 7, 000: Y : S 4

Jan. 18 Sold goods worth Rs:40; 000to Yash @10% T D. & 5% C D & recewed cash smmed%ately
Jan. 21 Deposited Rs.9, 000:in.state bank of India, .

Jan. 27 Cheque received from Mr.Jay of Rs.10, OOO depomted lnto the bam but dishonored.
Jan. 30 Paid lnsurance Premlum Rs 500. . XA T LA

07

Prepare a Bank Reconcxhatxon Statement of MOON as on 31 Jan, 2017 from the foll owing particulars. 08

. Particulars Rs.
1, CheqUEs.,banke‘d but"not cleared 1,800
2. Chequesiissued but not encashed 1,400
3. Interest on Investments collected by bank 240
4. Interest on Overdraft charged by bank : 150
5. Bank Charges entered in Pass book -~ _ 15
| 6.Bank Overdraft.as per cash book-as on 31,12,2017 10,000 «
' f7 Balance: Overdraft as per cash book on that date 7 10,325
; <3 SOR ;
Enter Followmg transactlon in a cash w:th cash bank and Discount columns and balance the cash 15 =
VROOK, 7 & e S W8 T P

1. Bank-Qverdraft Rs:2000

- 2:dntroduced further cash Rs.7, 000 in the business
S _.,4 Depostted Rs.5,000.

6. ReCexved acheque from:Maya for Rs.1,170 in full settlement of Rs.1,200
o I lssued a bearer.cheque for children school fees Rs.2,000

s 10, ]ssued cheque of Rs.980 of Meena in full settlement of her a/c of Rs.1,000

5 11 Recewed a cheque of Rs.500 from Mona on account.
12 Endorsed Mana s cheque in favour of Leena to settle her a/c.

18F802BF4CB7FB2A6268C20CF50C54E8 ()/



Paper / Subject Code: 81901 / Introducaton to Financial Accuuqﬁg.’f

Qp.Codes00izz -

14. Cash purchases Rs.800
18. Cash Sale Rs.700. ; ) o o
20. Purchased furniture worth Rs.2, 000 for office use & paxd by cash S
24. Paid salaries Rs.700, Rent Rs.150, Commission Rs.200: in cash ™
27. Bank collected divided Rs.100 and credited in our a/c v

31. Deposited all the cash in excess of Rs.1,000 s o

23 A) Prepare Personal Account of SIYA from the foilowmg transact;ons

Date Particulars ARSI e SRS AR
2017 O T TR e T e I T S g (Y
L Jan.1 T Debit balance on Sy s8/B.. . w5 (0 Lot A B0 SR
Jan.2 Sold goods on credittosiya - . .| 5400 ¢
Jan.6 Received from Siya -~ STer o S OR300
07 Jan.7 Allowed her discount o 100
Jan.9 Siya bought goods oncredit '- o N 1,500
Jan.12 Received cash from Siya s S A RO 3450
Jan.13 Allowed her discount . R AR S STH P8
Jan.15 Purchased goods on credit from S;ya & R &0l 071,040
Jan.18 PaidcashtoSiya. . « . o T &7 R SN 500
Jan.21 Returned goods to Slya 't 35 GE S OP S W el 140
- Jan.31 -'Pand cash to Snya in fu i settiement of her acmunt : 390
Mr. Goyal furnlshes you w:th the followmg mformatmn g ' os
1. Opening’ Ba!ance in Machmery Account Rs.1,00,000 on 1% Jan. 2017
2. On 1% April, 2017 he purchased Machinery warth Rs.50,:000.
3.0n 1“ May, Machmery purchased on 1% Jan, 2016; for Rs 50,000 was sold for Rs.40,000.
4, On 1 Oct, Machmery purchased on 1% April. 2017; was sold for Rs.47,500.
s 5. Deprec;ate Machmery at 10/6 on W D V. ba515 machmery held for part of the year is depreciated for
the time itischeld. - S o
Prepare Machmery Account for the year ended 31 12 2017.
15 o Py
a3) OR P 15

’ State with reasons the nature nf foHamng Expenses/Receipts
-a) Gave Rs 1 iakh a custcm dut\; on the machinery imported.
b) Cost of re-pamtmg the factcry shed
c). A sum: “of Rs.99, 500 was spent for dismantling, removing & reinstalling plant, Machinery & Fixtures.
d) Import duty.on raw materlal purchased
e) Purchased machinery for Rs.15, 000.
f} Lega expenses mcurred in connection with issue of capital.
g) Cost ‘of Goodwill purchased
h) Heavy expendtture incurred on advertisements.

18F802BF4CB7FB2A6268C20CF50C54ER Z !



Paper / Subject Code: 81901 / Introducaton to Financial Accouméf; 5

Q.4) A) Rectify the following errors.

1) Rs.3, 000 paid for purchase of typewriter charged to stationary account 3R
2) Wages paid Rs.1, 800 for erection of new Machinery wereposted to wages A/c

3) Paid Rs.150 for the purchase of a table fan posted purchase A/c. et
4) An amount of Rs.400 received on account interest was credited to commassxon Account

5) 100 shares of Oswal Oil Ltd purchased @Rs.50. Each not recorded in the books.

6) An amount of Rs.500 withdrawn by the proprietor for his

expenses A/c.

oo

revised Trial Balance.

QP.Code:00122

personal use was debzted ta Sundry

Mr. Raj has prepared the following Tnal balance on 31St March 2017, Kmdly vertfy It and prepare a

Particular
Capital ;
Purchase AN LIRSS 1 16,000
Sales C0:1-2,00,0005 ¢
Goodwill 1 1,00,000
Machinery 21,000
Furniture 19,000
Sundry Expenses < 35,000
Sundry Creditors 42,000
Office expenses 10,000
Interest received - 3,200
O/s Expenses - -~ - 15,000
Opening Stock.~ -~ 1,07,400
| Cash balance - 1,800
| Total 4,10,200 4,10,200

18F802BF4CB7FB2A6268C20CF50C54E8
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Paper / Subject Code: 81901 / Introducaton to Financial Accmmt_s:

Q.P.Code 00122

i
-

From the given Trial Balance of Hiralal, prepare manufacturmg, Tradmg and Pmﬁt aﬂd_,mss
account for the year ended 31.3.2017 and Balance sheet as at that date Y

Particular Rs. : iParticufars v ALl D
| Stock as on 1-4-16 S Capital of Hi ralal {90,000
Raw Material 13,000 Sales . N o 000
,. Work in Progress 8,000 . Interest recei\}ed = A5 S0
08 ‘ Finished Goods 19,000 .~ -Discount recewed ’ 250
Machinery (at cost) 440,000 < Creditors T A A 160005
Furniture (at cost) ~RI8000 £ AT " ol ooy e
Drawing o 13 000¢ | Prov. For Degrecratmn g
Debtors > 5V 2 IBE00 7 o 0N Machinery .- 32'0,060
Salaries o 5 3,820 2 L 0On Furniture 2o 110,000
Factory insurance 8 N N S e
Balance with bank - 13,5005 .5
Cash on hand™ 7 (L7 SRR O 0 S0
Purchase of Raw- Materral k99,000 &+ 4
Return mwards 7ol 380
Wages' (> (7 & 077 5o S80S
Direct manufactunng 2,300
Expenses ; 2
Factory Rent~ .« 2,500 "~
Office Rent "8 oo 2,200~ 0T
‘ Power expenses -~ = O o 1,200° 27
. Investment 10200 /e,
| Factory Lighting = .o« {760 -
| Office Lighting =~~~ 1,200
Carriage outwards 550
5 Printing & stationery. = -~ | 1,000
o lBaddebts. 1300
CiTafal Tt .2,48,700 2,48,700
Adjustments- fi EEIS S

1) Addttmna I'bad debts of Rs 500 are to be written off an RDD to be provided at 5% on Debtors.
2) Outstandmg Office Rent Rs 200.
3) Depreciation Machineryat 10% p.a., Furniture at 15%p.a.
) Ctos ng Stock are —-—~Raw Material---Rs.2,000,
el feaoar. W!P---R315330
~ Finished goods ---- Rs.28,000
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Q.5) A)

Q.5)

Paper / Subject Code: 81901 / Introducaton to Finan

Explain the use of Computers in Accounting?
Explain the need of the Accounting?

OR
Write Short notes (any three) :-

a) IFRS
d} AS-6

18F802BF4CB7FB2A6268C20CF50C34E8



